EVE

Series JHEFG (=] [m] Set-4
= T wT
I ap. code 22
e . Tlierefl Y- IS i IA-GIETHI b
RollNo. _ @98 T 379 T |

Candidates must write the Q.P. Code
on the title page of the answer-book.

HEhay (hivgen)

SANSKRIT (Core)
GHl: : ERIATH quIET: : 80
Reffa a7 : 3 g72 SFferHaHT 37% : 80
Time allowed : 3 hours Maximum Marks : 80

o FHUAT = HL A Toh 39 TAIF H Gigd I8 19 3 |

o YH-UF H A Y hT AR TG T Y97 hig H wlemefl IT-gfeasht
7@-98 W ford |

o FHA A F A T 0 WA H 18 TH F |

o HUAT Y T IW foTEAT & L € Ugel, ST-YIEasht § T99 HT hATH
ey ford |

o 3U WA-UA Wl UG o fIT 15 fire &1 ava fen o B | w9 o o
Tate § 10.15 s foRaT SO | 10.15 99 | 10.30 91 6 B hdd Y-
T I TG IR 39 A b GRH o IT-YFEdeht W hIE IR & fora@ |

e Please check that this question paper contains 19 printed pages.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 18 questions.

e Please write down the serial number of the question in the
answer-book before attempting it.

e 15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

*
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HTHT=T 339

o FHYI GEFAIT TI&TT Fa-g Iq SEHT FeH 19 TSI FlRar Gid |
o YA GEEGI TGV Fa-g Iq HHT T 18 JGET: JHI: Eid |
o IHAGHI] Jd JoT HHIg: AV AGHT: |

o I JIIF TS 15 8 [FERar: @i~ | 3T 3ael Had FeT9T 93T
ITHYIETHT & 817 T AGHTg |

ST o777 TedR: GUST: Tl —

@US: ‘&’ — ITIGT-FT YT - 10 37gT:
GUe: ‘@’ — TTHIHB-BIIY - 15 37T
Gue: ‘T’ - SHIFT-FTHIIH ~- 20 37T
Gus: ‘g’ - [ geT-sEEyTq — 25 37T

II. GEFT-TNeTERT-IR=TT: — 10 ST

() 3T F797 Fear: GUST: Gl |

(i)  FF GUSY ST FTIN THIGT T FHHT GG |
(iii)  FOTGEIT FITTAFERY SToTHT AGH T |

(iv) &I FHAH IR GEHAT AGH T |

(v) I 3G90 €T ST YT |
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EVE
=

Que: ‘&
CUICLICEIEE
HAufed-aaied

Unseen Passage

ARG T IfScal JEAIAHM I HEeheld fer@d |
frfafaa ey =t gt Yed YT % W TEha ° G |

Read the following passage and answer the given questions in Sanskrit.

IS @Y "HTeh: Tt | A T wEe et et | wgsn ageesr

10 35T

TF TAS O W=d: o TAOAT wafd, qavd Qi ardreio] Sigegel qatd |
IHTH Iy IUCKH — Tesed Faged ¥ dl T IHay, || 3T 3R
ity A aq a9 wd S fuferean T, fufelcar weeaior agg, @d
WER =], T Y001 FAER Wod | Iae hidaH — Taee aggen |aifn
oo oefte)’, stetq o18 et SH Bsfiara wweem sfa | ety e e
T Wod | EArag TTeAA: Widehatd ST=RY 7 Shaedd | AT W1 U1 HHTS:
Tq AT 3 weAd | AN e qiuehriegd: T faermfd awi Sfeey v
9= H2Ad | Td Warg Ge:” e STHTRY 3e3d A |

T
(3)

TehUeH ITA | (Shadl T9gaH)
T Weg § I N | (A Q)

Answer in one word. (Only two questions)

(1) W:W:W‘Jﬁ?

(i) T8 TN T WA TR=ITH 2

(iii) hEITeg ATHA: Ffdeha foh T e ?
JUIETRM 3T | (had TegaH)

9o I IR T | (had g1 TR)

Answer in a complete sentence. (Only two questions)
(i) A0 FgeIagRy foh foh wafa ?

(i) T oy fory 3ufesey ?

(iii) ohWT e 9= eAd ?
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()

(3)

EVE
=

e T 3P v HeE R |

39 T 1 3 e §ha H fafEu |

Write a suitable title for this passage in Sanskrit.
JATHCIM ITA | (hadd TeH)

frdemgan s i | (ke i ww)

Answer as directed. (Only three questions)

(i) ‘T 3t uee 3fud wataug o |

(a) YOI

(b) T

(c) WEH

(d) e,

(i) ‘Fersgm sk vew 3fud faudiaug g |

(a) HIGEH

(b) AT

(c) ﬁ?ﬁ?ﬁ

(d) drdreEE™

IN

(iii) ‘e TofcTcan weheain gg-q° o It fohamag fohm 2
(a) wd

(b) Tofecan
(¢c) dgd
(d) TehEeu

(iv) ‘|atfr 3f e 3fa fomrerae fga |
(a) fimmfor

(b) SEM
(c) AT
(A =g
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EVE
=

us: ‘@
TEATCHSR-HTEH 15 3T
AT R - T
Writing Skills

vacT: foemed TSI anffeicad ‘FRfia-fasm:’ sfa @xhaaessr wad
wiosafa | srfemeam waed faflgd e wesuma: gaf facan fedeerta
7@d 9 9 g foreq |

3Teh fqame™d # TN 8 Tl aTfyehicdd H HRATA-fos™:” AHeh 9%
ek T Hodd BT | 38 R R fird =l forg@ fFm=wraa # #esmn & feuw Mo
yogl § T Teret <t gfd ek o w1 g fafaw

On the annual day of your school a performance of a Sanskrit Drama is to

take place. In an invitation letter written to your friend, fill in the blanks

with words given in the box and rewrite the same. 1 OXé =5
i \fa () !
WG
3 HUA (i) | IFEHH (iv) _ anftehrcEa: aE=audfi

ARSI | o ‘HRiEfesy:” 9m Aess 7Ed B (v) |
gy afterey vt vftee feefe | sl or Arews wfafe

wi) _ Thad | ©W udERs gRal o (vid)
U | Tagae T AaIHT 3 (viii) | IfER HE=:
Tq JUHTSSIA: (ix) |
GEREE RG]
(x)

Rl Sl

Ty, e |, qaieTe:, S, geT, ST, e,
4., Taenerre, feedn |
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=

(%) TNICTRISGHT TR JIfARGAE AR ReFaeamT- R
HT g: foea |
T[T § CU T vegi 1 g €@ A forEt agenen W e TuH W
HAT = g4: feafgu |
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same. 1 OXE =5
Tehel Teh: TS (1) Qd Hah Tl 3Eeq — TTe® Tag, &+
gy (i) AT | daeh: Haid I9HA, 9 (iii) -
fufetear o= g1 T (iv) , W=g IsU |y aferm s A

(@)

Teida | W Fa% uid: I T e d §E ' (v) _
yTfefded: | ¥aeh: 3Yaeq — Uag & q d1yy wd faaigy s=afd mmms

(vi) | Ife I=E: S eQly dfg ‘TS (vii) .
wersafa” 3fd | = ¥: T TF: (viii) I, 319ed 9 —
T 1A "ga: 9 o9 T $esf, I 99 $esfd d (ix) e
afed | g1 : ITEH: ? TS oF 91 T (x) AT
ceatenll

AT

fodl, equm, @Ted, WogH, ST, TS, Hg:, 9HM,
ST, TIES: |

AU4at (OR)
AeifIRgd-garg feaee i w@d |
frrfirfiad ware  fom T W |
Fill in the blanks in the conversation. 5x1=5
Ao — o | S TR, uq 3T JuTEel oG-S
S el T ?
ICE /N ¢ |
Aol — e HEE T e 2
T — (i) |
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FrafRaqaTeRy SueeH gow I TEhdd 311G $Hed |
frfafaa st # € fordl g7 TRl o1 §&hd | 3TaTG HIT |

Translate any five sentences in Sanskrit from the following sentences.

(i)

(i1)

(iii)

(iv)

(v)

(vi)

EVE
=

— (i) |

(iv) |

— W) |

S O
|

_ STTEHTEE S e wafd ?

—  Yougul-feresh YamH= 9 foh U 2

TNE g&deh Te 2 |

Gaurav reads books.

31ereh BT 1 TR a1 7 |

The teacher gives a prize to the student.

e TR AT 2 |
Monika goes to the market.

T vl fomer™ ST |

I will go to the school tomorrow.

& vadT < &Y I |
Ruchi will sing with Shweta.

e IR o |

Yesterday was Sunday.
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EVE
=

Qs ar
- AT 20 7T
TSI H-SATH
Applied Grammar

arfaRadarely YErfgaueHt af-aeag afs a1 $%d | (ITYCHY haed)
FrafaRaa e @ Terfga 1l 61 afemae ryan afy e | (Fad s: T91)

Disjoin or join sandhis in the underlined words of the following

sentences. (Only six questions) 6x1=6
(i) AT RIS ST |

(i) R | T Wead |

(iii)  aTeeh MR AT qcaoT |

(iv) @AM | 98 + JaFad, T |

(v) I Has eI + 9 |

(vi) IHEITHTd: | gaedre |

(vii) g¥iq 7 SH{qedd |

AAARGATRY @TTgaIeH™ 3fed Foeque foug ame o edfaehedsd f=d |
(had TeAIAHH )

frfaifga sl § TaETfea val &1 3fa aned 9g a1 3fud foue I i wed
faeredl & T | (et d9i= TH)

Select the appropriate expound for the underlined words “Trreque’ or ‘faug

T of the following sentences. (Only five questions) 5x1=5
1) Tdg AIRMEH,
(a) 1 STMEAY (b) A ITEAY
() METH TG (d)  MEAH A
Page 8 of 19

Previous Pathshala




22

(i1)

(iii)

(iv)

(v)

EVE
=

ﬁﬁq:m@ﬁwma:ml

(a) SATHRHGII:

(b)  STRREGRITSIT

(c)  HAThHGRTIAT

(d) SATHRIFTEE:

aq formTy s=om sfashr 9= |
(a) FESTHAIEH

(b) II=SH

(c) T

(b) 7 <reigE,
© dHdaT=
(d) < A
de] TooHd e Ul = gu=iRg Tfsa: |

(a) T = fUar = (b) HE@I T g

(¢ T =foar= (@) W= el =
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EVE

(vi) I qreafy Aifesy sfa srfemife: |
(a) e femifea:
(b)  ST=HIq femifea:
(c) s fermifea:
(d) I femfEa:

Fefafgqary  tEfgauem  wgfad Tl fawfid a1 wefaues
e foreheds: fogd | (hael TRugHH)

ffaRaa amet # TETfed Te % 3Ugad §gF A¥El faved Thid T fou 5T
foepedl ® | gMT | (e B: )

From the given sentences, choose the correct combination of joint or

disjoint set of suffix for the underlined words. (Only six questions) 6x1=6

(i)  hIUTicTeh: Fagq T | AT 9fl: |
(a) Ul + 3% (b)  HUA + 3%

(c) hUTA + 3% (d)  UTd + AT

(i) T |9 99 + o4 |

(a) e (b)  afcasam,
(c) IFAAM (d) afeEm
Page 10 of 19
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(iii)

(iv)

(v)

(vi)

EVE
=

3 + 39 (38) + 3 AT Feos: ISl o Fqam |

(a) A=SHM:
(b) A=
() s
(d) e

WIS gageeiiae: g g |
(a) EAE +3

(b) &IE +HJY

(© FIE +¥

(d) I8+
SR CRCIEEEIIECHE R COREC Sl
(@) T +9d_+ &ddg

(b) ™ +9d +3d=q
) ™ +9d +Fd

@ HM+9d+aq

Tl TS HiSiaY Fieal @ gsea |
(@) T+ (b)
() T=® + Fqadq (d)
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(vii) AAfdsafe aer wehifet e |
(a) TERIAT + TY (b) IR + o
(c) THIHT + 21 (d) TR +3q

T fay Iuve-favfeaesy faga | (hadt Tesem)
39 ITe-fauferd €9 ! T | (had dH T9)

Choose the appropriate subordinate clause form. (Only three questions) 3xI1=3

@ ¥ vHfcaed |

(a) &IH (b) T

(¢ T d) @
(i) THagadl "W I |

(a) a3 (b)  TIH

() dd (d g=H
(iii) o, MR Haal o fo=m: ?

(a) ETEEH (b) T

(c) ETHHAH (d) TErdHETn
(iv) I HY 39 ?

(a) W&, (b)  HrRA

(c) IR d) HEE
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EVE
=

Que: v’
(i) ufsamEaIgTq 25 37T
gfed-sraared

Reading Comprehension

JreifaIRad e gfScan qEreTia™ Je-H, §%6haq 3 |
frfaRad ey 1 gt 39 W IUTNG THi o 3T T%hd H GT |

Read the following prose passage and answer the questions based on

them in Sanskrit.

IS 39 FeuTehvd HiUdl T T8 — o HY Haehisil, TAT Jched
TG Togem | g4 JeEst: TSR e Jear il SYd | S, STHesH
FeEUS: IS 1 Toeg T o Aiqa™ | 9 ST AT et Wiz foRAfa
JEEUS H{AAAH qgaa: RFHIA Jeos: T A FadH, UG TeHrTed WISl
TErRal ! s @ | g9 HEEEI WSS T IRl TSeH el
FEEUST TS STE — #fiwar Fgrfese aeanfaatufa |

AT

(31)

UehUcH 3T | (Shad TeIgaH)
Th Weg § I G | (hared a1 T9)

Answer in one word. (Only two questions) 2x—=1

&I TR HiUdl TS TTE ?
Feaet: & @ e w99 Hfaar 2
(iii) <R UTeHIET T 2

qUfETeRIT ITA | (Shad TIgIH)

qUi T H I T | (kA & TH)

Answer in a complete sentence. (Only two questions) 2x1=2

SIS = HTehvY iUl T ok I8 2

TS : WIS hY WY 2

(iii) TSIYS Tedl IeETST: T foh I8 2

Page 13 of 19 P.T.0.
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TG ITA | (had TgIH)
fdengEm s AR | (ae 3 )

Answer as directed. (Only two questions)

() ‘vEa’ 3f vew fodmug foh gy ?
(i) ‘¥ 3Md hATIEET Hque ford ?

(iii) ‘TeETST: G 9 AN 3 qH HAAHUG hed TYFH ?

AYIfARGd Tl dldcal TaTETRar, I FEhdd 3 |

frfaRad Ta =1 dgt 38 T LT Tt < IR H&hd § T |

2x1=2

Read the following poetry and answer the questions based on them in
Sanskrit.

T2AT:
(31)

(3)

TNY I GHEH TAW |
e shfcte g,

ShHh: hUZhSITAHT ||

THIE ITA | (Faed g
T Teg H I A | (haet & TA)

Answer in one word. (Only two questions)

(i) @AW HY Jc: Hafd ?

(i) @A HIgN: IA: TNy wafd ?
(iii) o: HUEHITA e ?

QOISR ST | (heiet T¥gH)
PUEIER IS SN CE S RAR )
Answer in a complete sentence. (Only two questions)
(i) T fog=r @@ a: gy wafd ?
(i) shHcTh: P gfawa T Fera 2
(iti) T Glorad higel T ?

AT ITRA | (had T 5IH)
forémmgEm S S | (Shert 3 o)

Answer as directed. (Only two questions)
i) T’ 3fa uge fammorg fopq 2

() Ig 3fd v yafaug foh Sy ?
(i) oy’ 3 vew foeiag foh ey 2
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=

AYITARGd TS qfdcal AETETRAT, I T&had I |

frfaRaad ATeam =i Yght 38 T MYTRA TeHT o I H&hd H ST |

Read the following part of a drama and answer the questions based on it
in Sanskrit.

FUET — TEECHfHAl: vedl UG ATed wisfu orEekmen:,  dqrfy
TEeE: 7 wsafd — 9o gdd 9t gdear Wadean = | Idr f2
gridhmERigd I v wd: IR wafa qen F ®isfy o= |
wrggrdt faue=n Bt weea: | ufa: afe wyd gy iR

TEHHATT T WY IeaTd HUHY SR SRt |

FTET: — Agr: s go: gEan: AtER: |
T —  Fvsd | dfigerEl 9 ® yghd: | afe @ed: g, fen o=

rffoaee, Ia seHEa § T0EhR: |

FTETT: — TAVATHE SR | Tued O e 1Y HU T I ? AgHEg
@ gt wiosafa 99 @ue | AgTees g w@ediE wfesafa |
AU Wifed=ald & FECAENE-E 8 GRURgHR |

T
(3)

HTTRAH e Uge = =R JaamE: |

TehUCH ITA | (Shadd T9gaH)
T g § IR T | (S QT TH)

Answer in one word. (Only two questions)
() eIy &: | 9 2

(i) TRESd! it Shicert dTed: ?
(it) EET: Teef HEAT: FEAM: AR 2

qUIETRM 3T | (had TegIH)
QUi AT H IR AR | (e &1 Tw)

Answer in a complete sentence. (Only two questions)

(i) emidrmiagy wd: =1 g wyafd 2
(i) SkaeasT: AIEl uciifasy foh smefa 2
(iii) UcAWTd Ry <IEH € eEmfd 2
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JATHEIH ITRA | (had TegaH)
famgam 3 G | (Faa 2 we)

Answer as directed. (Only two questions)
‘gupa] sfa ferawore forgrsag o6 gy 2
‘gury’ 30 vewa foeimag 5 e 2
(i) ‘@reFa:’ 3id TRATIEHT Hgug b TYFH ?
eiffigas o wane Fesmieade: e g: fafed |
frfafaa wa &1 wraned weaw 6 fou 5T wegi @ e g faflaw |

Rewrite the gist of the following verse by filling it with the help of
the words given in the box.

(1)
(i1)

3TEHR §e g4 M Y = T |
HHTCHIRGRY TTgaal SRR ||
wraef :
WG S eATggRy, 99, T (i)

Oed: MeE i) = foud W ufa i)
T |

Hes[uT
oYY, I, TRy |

AT (OR)

Yeayaned-3amq g wranef faean faea |
few e i et ° @ 3pg wened et fafa |

Write the correct essence from three essences of the following each

part.
(1)

‘Nd: TeawmE:

(a)
(b)
(c)

I AE: GG |
I WY fawa: |
T Y FAfvaasuo syt e |
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(i) ‘SRS e gt |
(a) 1 STARIHRA IMHAT geali THYHTE e =R |
(b) TR IMFHAT FHLT I |
(c) EETHHA IMMEd ATEH THR |
(iil) ‘IEHTAERISAATHTHIIET |
(a) ITMTE: 9 WeAd |
(b) 3T o Wl |
(c) oT=E: 9 UTeficar ferem srgemfed |

o 0

AYITARIATATRET TG 3T-od R T & d |
fafafiga voite & =9 | feazem wiw |

The prose-order rendering of the following verse is given, fill in the
blanks. 3x1=3

EEICIREERIRICI = I T A

T Ty fuaeeaEn seaet SR ||
A :
g: (4) forrmgTTq 1&g weng AT (i) (STTElq) amn
fUq: shaet (ii) (3ATE) |

F T IR @ SIS SR 18 Had e
‘® T % I T @ EEH Sk AT o 91y e i

Match the sentences of column ‘& with the suitable sentences of
’ 1
column @’ : 4><§=2

‘®’ Ty ‘@’ Ty
(i)  I=IAEEE Huif
(i) WAl 91 9o ST
(iii) T w9y fy fomm

(iv) ScHY HIT sy

) ¥ o1 7] deand |

¥) qi+ fadean |
¥) i g gARey |

T) O avedstaat s |
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SYfRgdarRy W@ifgaaeH TaEHEaR gH 1 Fosra: focar fo@a |

EVE
=

frfafaa ameml # TETfea 6 w1 TETIER g o7 Teemn & gt fafEau |

Choose and write the appropriate meanings of the underlined words in

the following with the help of the words given in the box.

(i)

(i1)

(iii)

(iv)

TR Fel T FoT S0 W |

Heshd STETIhAl AT T |

HGTAT = HEMd: HagmAShRyd! Td: |

IrSiol 9SS aTi |

TS
TS, S, T, ST |

(ii) FEhHAAT e AR
HEHA ATl o1 AW aiad

General Introduction to Sanskrit Literature

axL=2
2

10 HST:

TR S I TG A HeS[WI-Yed IegHT FEria ey fored | (haw
EEEERL)
Toqwn 4 fou U el hr wgwr @ b TOW B OwRy Ste@n s 1AM
fafaw | (e o I99)

Write the appropriate name of the book or poet in the blanks with the

help of the words provided in the box. (Only three questions)

@)
(ii)
(iii)

(iv)

G 30 UTS: HEHTG TRt IR 2
HISTIarg: e hal: T ATET ?

Crafere F81r 3fd 9Te: HE I ERIG: 2
QT F=orTd %: WIe: EEId: ?
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TE-GE-Tr e 9 fagmr aqfaa dftred wesmra: T fermeemy fored |
(ehefct )

GEIehe, TEIhIed UWd wFgehed i fauredi i fafimedt 1 AN d AR
fereami § fafaw | (Faa & w)

Choose from the box the appropriate characteristics of the genres of epic,

prose, poetry and champoo poetry and write them in the blanks. (Only

three questions) 3x1=3
(i)  TgehEEe faurH Hafd |
(i) UIThEAFAR®eE _ waE |
(iii) A Tl Fad |
(iv) FrIehed e |
HSHT
TRYEHIY, TEehCIE, WY, T |

ATeaET AThed Hfad He $ed |

ArEIaal @ MR W ggfea e Hif |

Make an appropriate comparison on the basis of the elements of Drama. 4x1=4
‘E’ (@.,

i)  E IR AR fawrfa |

(i) -3 TAgH: |

(iil)  ATEIMTEAR TR TUE: SJFI: AfEd |

(iv) ‘ISHRTP-aed Aehe e af=d |
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